PROFESSIONAL EXAMINATION BOARD

Jail Department Recruitment Exam 2015

6th December 2015, 03:00 PM

Topic:- General Knowledge
D

Question Stimulus :-

In which of the following Madhya Pradesh secures 1St rank?/#¢q Y9 fFad ggar T I@dT
2

SC Population/gfaa snfa Seraear

ST population/ 3 [gfad sieranfa S=raEar

Literary State/fAT&T =7

Population/s=raeEdr

Correct Answer :-ST population/ I gfad SeTsiia FTAHEAT
2)

Question Stimulus :-

International airport in Madhya Pradesh in situated at?/#t7 Yo # JRTSET gar$ 3r3sT Fa
T R Ry 2

Neemuch/H#T

Indore/sak

Gwalior/7arfe Y

Jabalpur/w
Correct Answer :-Indore/3gR

3)

Question Stimulus :-
Which university is present in Gwalior?/#I @1 faeafagarey afow & #l9g 82

» Vikram University /fas# farafaczrea



* Jiwaji University/sfiarsit farafagamea

« Devi Ahilya University /4t sifgear faeafagaes

e All of the se/3Wad gt
Correct Answer :-Jiwaji University/Sfiarsl faeafagamea
4)
Question Stimulus :-

What is Madhya Pradesh public service commission (MPPSc)?/HtT Y&l dld |ar AT
(MPPSc) Fa1 §?

Independent body/Tadd s

Private body /st fa@wrar

Semo-private body /3 st AT

None of these /3a® & @ FI$ 7ET

Correct Answer :-Independent body /¥ada¥ &=
5)

Question Stimulus :-

What is the another name of Narmadapurm division? /7Y FHWT FT GAI AT FAT 82

Indore/sek

Gwalior/TaifaaX

Hoshangabad/@eemeare

Jabalpur/SEeqY

Correct Answer :-Hoshangabad/gREmETg
6)

Question Stimulus :-

“Sariska Sanctuary” is situated in which of the following state?/"aRT=T 33ARY” 5T T
& aItasar §?



Bihar/fagR
Delhi/feeet

Maharashtra/AgRTSC

Rajasthan /IS
Correct Answer :-Rajasthan/ISFdT

7)

Question Stimulus :-

Which city is known as the Boston of India?/®leT |1 AET HI T A1ECT hgdTdl %"’
* Kolkata/®Iererar
o Pune/qor

¢ Ahmedabad/3gHcEIGg

e Mahe/ATe

Correct Answer :-Ahmedabad/3gHcreTg
8)
Question Stimulus :-

What is the origination point of Luni river?/ﬂfﬁ' TdY FT 3CITH ¥l R ATE?

Himalayas/%ﬂﬁﬁ]’

Aravallis/3ae

Vindhyachal/faearerer

Western Ghats/ITRTHY 91

Correct Answer :-Aravallis/3R1de
9)

Question Stimulus :-



What type of qualities are reflected in Indian National Bird?/3TRe_r TIT@? il ¥ P IFR F aor
gRerfara g 82

Beauty/lﬁa'd'
Grace/3T&HYOT

Pride/aiRa

All of these /390 st

Correct Answer :-All of these/3RiFd Y

10)

Question Stimulus :-

In how many services Indian Defence System has been divided?/3TRel I T&T YoTTelY &Y fhast Faratt
# Renfaa Far @2

e 2

e 3

4

5
Correct Answer :-3
11)
Question Stimulus :-

Which Indian city is known as the “City of lakes” /?sRa# “giial #T @y FA FeT ST 82

Jaipur/SIAR

Chennai/R+§
Bhopal/$TqTel

Mumbai/ %

Correct Answer :-Bhopal/sTaTer



12)

Question Stimulus :-

Which of the following, is the dance of Maharashtra?/gsT{ & HERTSC T ofcH HlTATE?

Tamasha/d#AnRn

Bihuﬁg
Chakri/gsd

Chappeli/ardsit
Correct Answer :-Tamasha /dATem

13)

Question Stimulus :-

Who was the first Indian to get selected For Indian Civil Service?/#Rdg R@fae dar & Qv
TIfAT g arer ggel ARG 42

¢ Satyandra Nath Tagore/dcdg a1g &T
 Sarojani Naidu/® s/ag
e Lala Lajpat Rai /4T dei9d I
e C.R. Das/H.3X .g &
Correct Answer :-Satyandra Nath Tagore/ddg 1T &

14)
Question Stimulus :-

One time associate of Mahatma Gandhi, broke of from him and Launched movement
called self-respect movement “Who was he”?/#grcaAT et F T AT & FEAWM, 399 31T g

3R 3 e FEAWT G ATHE UH Haked AR AT "aw w42
e P. Thyagaraja Shetti/d .RR ALY
e Chatrapati Maharaj/aaufa #gRST

e E.V. Ramaswamy Naicker/$ .d} .T#amE A9



* Jyotirao Govindaro Phule/saffasr o Mfacwa
Correct Answer :-E.V. Ramaswamy Naicker/$ .df .3#AEa#H A6

15)

Question Stimulus :-

Who among the following is known as the father of Indian Communication?/faFafaf@a H AP
HRA T AR FITQ F ST & T H SATAT A1 82

Nandan Nilekarn/#ice fad&)

e Azim Premji/ 3= a&sit

N.R. Naryana Murthy /T, 3R, aRmIor Aqfd

Sam Pitroda/ds ReEer

Correct Answer :-Sam Pitroda /3% Rier
16)
Question Stimulus :-

Where is the headquarters of central treaty organization is located?/F&I Gf&r Tarsa &1
qEATeT Fg1 W Tua 8?

Ankara/3&RT

Paris/9R¥a

London/ded

Geneva/3ddar

Correct Answer :-Ankara /m

17)

Question Stimulus :-

Which is the hottest place in North America?/3cail 3ARFT FT AW I TUF Fi9 A1 8?

e Death valley/3adeh



e Al Aziza/3rel it
e Japan/SyrT
e America/ AR
Correct Answer :-Death valley/3udeit

18)

Question Stimulus :-
Which is the busiest cargo port in the world?/gfar # §a¥ sa¥d ATAAIGP SaIINTE FieT AT 872
 Port of New York/#J3i# &I 91
 Port of New Jersey /gl &1 &
e Port of Shanghai/€T$ &
¢ Gorakhpur, India/TRE@, #Rd
Correct Answer :-Port of Shanghai/ QI"EITé'tﬂé'

19)

Question Stimulus :-

Which is the tallest tower in the world?/gfaam @ ¥a@ 3= <fay #ta & 82

Eiffil Tower/tfba eaT

Tokyo Sky Tree/e/aat &hrg &t

Qutab Minar/Fd« #iar

None of these/38d @ FI$ g

Correct Answer :-Tokyo Sky Tree/adddl T§ &

20)

Question Stimulus :-

Davis Strait is the :/3EEREH e &

¢ Longest Straight/ds¥ &dT S SATHET



e Busiest Straight/caTddd o SAGHET
* Broadest Straight/Wsd faTqa sier sHwAET
e Narrowest Straight/ Ta® THU I SHEALT
Correct Answer :-Broadest Straight/ds& ﬁ'{-‘cﬁr STel SHGAEY

21)
Question Stimulus :-

With which country, does India have a new strategically important 10-year defence
framework agreement setting the stage for co-development and manufacture of defence

equipment and technology?/at &l &1 & § 9w& a1 Ra & WiAfaF ¥ & FAgeaqor 10-adiy &m
wATH FAglar T § 3R e sueRor 3R wlemfd F we-Rew aw RAEATT F [ JT i Famar Hi?

¢ Sweden/¥d=a
e Lebanon/dsdATd

e Belarus/dd™d
* United States of America/d3%d Iod AT

Correct Answer :-United States of America/%i'{lﬁ‘cr TS AT

22)
Question Stimulus :-

Greece which was recently in news for financial crisis, is governed by which political

party?/&e & # Rl ¥%e & Fror giEAt # ® v W e Toefas g #1 awe 82
e European conference/JUd ¥FAee
e Sirja Pary/R&T Y
¢ Democratic Party/3®%e® qret
¢ Republican Party/Ruafsasa ardt
Correct Answer :-Democratic Party /3Rl fes ardt

23)

Question Stimulus :-



Which of the following has been declared as unconstitutional by the Supreme Court?/

Fafed FATEY ganT fArafaf@a & & 7 srwdfas et fear mar 82

National Judicial Appointments Commission/ IsT =A% fAgfFa smawr

Collegium system/®rafaaa yomel

NITI Aayog/#ifa 3makr

NGT/uasléY
Correct Answer :-National Judicial Appointments Commission/ IS8T =& ﬁ'gﬁ‘cr AT

24)

Question Stimulus :-
Zaheer Khan belongs to which of the following country?/siéR @ f5q 2o ¥ gafoa &
o India/dRd
¢ Pakistan/ 9ifsEdmnT
e Bangladesh/ sdaRer
e New Zealand/+ggitels
Correct Answer :-India/3Rda

25)

Question Stimulus :-

Head quarter of IMF is in which city?/3dQsd HgT FI¥ F1 JEITIT Fel 82

Vienna/fRa=r

Washington DC/aifresr St

New-York /3%

Albama / 3eT€TAT

Correct Answer :-Washington DC/arfRrerest SidY
26)

Question Stimulus :-



What was the basis for constituting the Constituent Assembly of India?/#Rd & GiAeT T
& o & v 741 3TUR 91?

e The Resolution of the Indian National Congress/sIRdlT TS HIIT FT Theq
¢ The Cabinet Mission Plan, 1946/%RAc A= A19-I11946

e The Indian Independence Act, 1947 /%R Tadaar yfaAad71947 ,

e The resolutions of the Provincial/State Legislatures of the Dominion of India/dRc1 3ufarder
& yid A=Y fAue#Asdl & heq
Correct Answer :-The Cabinet Mission Plan, 1946/%fWac e 31511946
27)
Question Stimulus :-

Which Of the following words in the Preamble of the Constitution of India, which was not
inserted through the Constitution (42 Amendment) Act, 1976?/9Rd & AU A gTdrg=T H

s Ueal # ¥ 5T eg F G@faueT (4291 FAue) wARIA, 1976 & ATEIH A [ET ST IAT AT?
e Socialist/amEa®
e Secular/4% fayqar
e Dignity/aka
e Integrity/ 3r&@sdar
Correct Answer :-Dignity /ot
28)
Question Stimulus :-

How many schedules does the Constitution of India contain?/sRa & afaure # Rt aeqqfaa
&2

e 9

e 10
e 11
e 12

Correct Answer :-12



29)

Question Stimulus :-

Who is the author of the Book titled “The Future of India’?/'7=@X 3% $BAT qraF & AGF
FiT &2

Bimal Jalan/ fe&e Sme

Deepak Chopra/das a1qsr

Amitav Ghosh/ 37fadma 9w

N.K. Singh/w.% .[R%
Correct Answer :-Bimal Jalan/ fadA« STemr

30)

Question Stimulus :-

Who wrote the book “The Gathering strom”?/'g igRar R&H'F @+ wia &2

Robert J ordan/flﬁé CIEG

Voltaire/dcea

Geerge Washington/3fsr arfresr

¢ Romain Rolland/J&AT A=t

Correct Answer :-Robert Jordan/flﬁé' CIEG]

Topic:- General Hindi
D

Question Stimulus :-
e & @ P v o fagliard+ &, 39 gfae-
o FAA-HGA
o FI-fawT

.« UT-HEH



o PNIY
Correct Answer :-59-fa%q
2)
Question Stimulus :-
HARY 1T FT GET ATH FIT 87
o SIfA=d omE

TR s

o fasma

*
Correct Answer :-saiffarlt sma
3)
Question Stimulus :-
‘g’ 3w @ oI -

° T

. 3%

o FHfoa

o 3Fd waft
Correct Answer :-3&a @t
4)

Question Stimulus :-
dCHH A &1 TI Hifare-
. a8
o e

° U3



o 31T
9

Correct Answer :-8Ted

S)

Question Stimulus :-
Agcdd & UI9 §-

* A

~

SH
Gl
o ead
Correct Answer :-d#
6)
Question Stimulus :-
‘7’ eafe frad seadra et 82
o Ay Fot
. woEd aot
o HA T
o dlelcd
Correct Answer :-HJFd gof

7

Question Stimulus :-
foee e & @ frelt vk Y 3ol e B, T3 M-
o TR
o raa

o TIYAT



o Ragar
Correct Answer :-3afRdr
8)
Question Stimulus :-

faeer Reedt & & g9 TFT w1 TG FfST-

aﬁﬁm{"mﬁaﬁm

gfe & s @ T ag I

gfy & SrFem At a8 e

I # I1F A 98 3

Correct Answer :-af& # Jr3am at ag 3mdamw
9)
Question Stimulus :-
farafaf@a o ¥ o 39F AT G 7 Raeal & ¥ a7 & yaR F RAfega Hifse-
‘FNIAACA L FFT T A R @AY
o AT ax
o wgET T
* WA I
o AR AR AL
Correct Answer :-#qaa a@a

10)

Question Stimulus :-
Masgy &1 faea @-
o FHFWT

[ ] W



(] ﬁg‘{
o A ¥ FE AL
Correct Answer :-h&oT

11)

Question Stimulus :-
gy, uTelt, W, 9ier #F qa §?

o FTg IO

HIT dIh

« WS ITH

Jifa aras
Correct Answer :-gcJ drds

12)

Question Stimulus :-
e daaslaaryge?
o AT+ FT=ATAHT

o+ =T

o+ gHT=aTTRAHT

&+ 3T = TR

Correct Answer :-ot+3h1=aTaT

13)

Question Stimulus :-

e gamm # @ Reg & A9 aar 2
o T ey

® HIUT de ey



Correct Answer :-#I0T dcqey
14)

Question Stimulus :-

81 w1ed # raitfere o fafea awqgat safaraal sruar el 1 avfer &Y aet frw T i frsafea g
82

o disrcw W
* Hgd &
9

* I+ T

AN q FE g
Correct Answer -G

15)

Question Stimulus :-
foeer weeT & ereg-gow & fashedl & & 6 -9 F1 wIT Hfre-

o RRT-stgen

5

o HIAAT-HTGT
o RRAT-AAT
Correct Answer :-RAT-HTT

16)
Question Stimulus :-
‘FARA F 3gwer -

° F



o FH
s FAY
o Fd

Correct Answer :-&#

17)

Question Stimulus :-

frrafaf@a acasr-aga & & Fla-a1 fweT g 82

FYST- FUC

o RIT-RIThel

HrE-Hiar
Correct Answer :-qd-shqd

18)

Question Stimulus :-
freifra & & 7 A1 AeT FA TAT F T §2
o g
o Togal
o GRIET
o T
Correct Answer :-degail
19)
Question Stimulus :-
3, 3it F1 ITaROT T §?

o 3ISaT

~



* FUIIST
o dleleq
° T
Correct Answer :-HUd3Isag

20)

Question Stimulus :-

oot 2reg 77 & el # ¥ F1¥ v Rve adt 7t ¥ I19a 377 1 999 -

o aRfr-aie

aita-eaRe

QTSAT-HTSAT
* HPR-TPR
Correct Answer :-3RR-IRR
21)
Question Stimulus :-

‘Iodud’ &1 faag gem-

S+

3+ °T
o Ig+dE

AT+

Correct Answer :-3d+ ol

22)
Question Stimulus :-

‘s & gAw @



o 3cyAY AT
* ¥ TACLHW
Correct Answer :-3<gl #19

23)

Question Stimulus :-
“&F U T I I, AF &F TS A8
TgR o ¢f uTsd, Il 2§ YT A FRE iR FT qAT R B2
o SIS AT IeHER
o @AY HAFR
o IAF HAPR
o 3YAT HAFR
Correct Answer :-T#& IARR

24)

Question Stimulus :-
FTq3-g3 fY, o 93 ¥ 3971 1” 7 30K §-

o i

Correct Answer :-faQemsma

25)

Question Stimulus :-

“UFHT’ FT IIIGT §-



R
o 3ead
o A

Correct Answer :-faster

26)

Question Stimulus :-

“qTell BIAT HTEX HT T e -
o FAAF FH Ul diar

IR ¥ RedamEr

A gATAT
LIGEIGIH

Correct Answer :-3IR & Reamar

27)

Question Stimulus :-

“FHeel ¥ O o foeer F @ e geray w3 @2

HeTE WAR # g
o AT A
NAT-3TTAT
$IH Q g G

Correct Answer :-374Tg ¥FR & ZaaT

28)

Question Stimulus :-



“re8 I Foak @Y ABIFT T 7S 7S 8-
o ARTT FH FEAT
o JWEHUET @ HATT FY AT
o IRI FT IR a1
o 39T AT T
Correct Answer :-arl T 3efard et

29)

Question Stimulus :-

“fhger 2 Y &X A9 ARIFd FT TEY 3 B-

AT A FH FIAT

* ohdlel 30TT

TS AT & FIH FIAT

faufea gsa W §eaw &1 TR0 FIAT
Correct Answer :-ASq{l # FTH FIAT

30)

Question Stimulus :-
e wF & Wit g ST -

o GUUT, TS, Hi, HIT

MM, ded, U<, 9t

M@, &9, 99T, W

Correct Answer :-g4UT, HTSell, 4, HIT

Topic:- General English
)



Question Stimulus :-

The serpent was killed _ a stick.
e with
e by

e from

through
Correct Answer :-with
2)
Question Stimulus :-
There was a fight __ Ravi and Rohit
e between
e among
e in
e on
Correct Answer :- between
3)
Question Stimulus :-
Pick out the appropriate word to join the two sentences given below.
Reena loves video games.
Her best friend hates them.
o whereas
* SO
e since
e because
Correct Answer :-whereas
4)

Question Stimulus :-



The entire human civilization is but a record of the exploits of the heroic souls who remain
undeterred by the difficulties that came in their way.

What is the meaning of word 'undeterred’ ?
o Fearful
e Fearless
e Cowardly
e Shrinking
Correct Answer :-Fearless
5)
Question Stimulus :-
We should not be afraid of adversities but rather welcome them as every cloud has a silver lining.
What does word 'adversity' mean?
e Diseases
o Infections
e Misfortune
e Advance
Correct Answer :-Misfortune
6)
Question Stimulus :-
Pick out the appropriate word to join the two sentences given below.
I could not attend the meeting.
I was unwell.
* S0
o while
o for
e although

Correct Answer :-for



7)
Question Stimulus :-
persons can keep a secret.
¢ Somebody
o Little
o the few
o Few
Correct Answer :-Few
8)
Question Stimulus :-
He has done great deeds and ___ divine songs.
e has sang
o sings
e sung
¢ had sang
Correct Answer :-sung
9)
Question Stimulus :-
The cart was ______ by two horses.
o drew
o drawn
e drawing
e being drew
Correct Answer :-drawn
10)
Question Stimulus :-

Find the word which is most similar in meaning to the given word:



Fragile.

e Tough

e Weak

e Strong

e Robust
Correct Answer :-Weak
11)
Question Stimulus :-
Find the word which is most similar in meaning to the given word.
Fluctuate.

e Vacillate

e Stable

e Constant

* Resolute
Correct Answer :-Vacillate
12)
Question Stimulus :-
Find the word which is most similar in meaning to the given word.
Feeble.

e Strong

e Weak

e Powerful

e Animated
Correct Answer :-Weak
13)
Question Stimulus :-

Find the word which is most similar in meaning to the given word.



Fantasy.
¢ Reality
o Existing
e Factual
¢ Imagination
Correct Answer :-Imagination
14)
Question Stimulus :-
The hailstorm __ destroyed the standing crops _ damaged the fruit trees.
¢ not only, but also
e both, and
e cither, nor
e neither, or
Correct Answer :-not only, but also
15)
Question Stimulus :-
Heis  sincere __ his sister is.

e as, as

so, as

such, as

such, that

Correct Answer :-as, as

16)

Question Stimulus :-

This is the only one of his poems __is worth reading.
e which

e who



e whom
o that
Correct Answer :-that
17)
Question Stimulus :-
He is one of the cleverest boys  have passed through the school.
e who
o that
e which
e whom
Correct Answer :-that
18)
Question Stimulus :-
Replace the underlined phrase with appropriate option.
Could you please blow up those balloons?
o fill
o keep
o sell
o fly
Correct Answer :-fill
19)
Question Stimulus :-
Replace the underlined phrase with appropriate option.
Yesterday I came across an old acquaintance of mine at the fruit shop.
e met
e helped

e guided



¢ invited
Correct Answer :-met
20)
Question Stimulus :-
Find the word which is opposite to the highlighted word from the given options.
Patchy
e Spotted
e Simple
e Uniform
e Attractive
Correct Answer :-Uniform
21)
Question Stimulus :-
Find the word which is opposite to the highlighted word from the given options.
Confess
e Deny
e Admit
e confirm
e Conform
Correct Answer :-Deny
22)
Question Stimulus :-
Find the word which is opposite to the highlighted word from the given options.
Hoard
e Deposit
¢ Discard

e Satisfy



¢ Accumulate
Correct Answer :-Discard
23)
Question Stimulus :-
Find the word which is opposite to the highlighted word from the given options.
Ancestors
e Supporters
e Disciples
o Followers
e Descendants
Correct Answer :-Descendants
24)
Question Stimulus :-

Find the word which is most similar in meaning to the given word.

Everlasting.

¢ Finite

e Momentary

¢ Endless

e Temporary
Correct Answer :-Endless
25)
Question Stimulus :-

Rice needs plenty of water , cotton needs black soil.

e therefore

e whether

e whereas



* SO
Correct Answer :-whereas
26)
Question Stimulus :-
He go to Delhi tomorrow.
e should have
¢ ought to have
e must be
¢ might
Correct Answer :-might
27)
Question Stimulus :-
Arunima , Uma and Ravi are fighting with
¢ each one
o themselves
¢ one another
e among themselves
Correct Answer :-one another
28)
Question Stimulus :-
Aryan to set up his own business.
* have intended
e intends
¢ has intend
¢ have intend

Correct Answer :- intends

29)



Question Stimulus :-
Sheena the cake before her aunt arrived.
e bakes
e have baked
e has bake
¢ had baked
Correct Answer :-had baked
30)
Question Stimulus :-
Her face is quite every one.
e Familiar to
o familiar of
o familiar by
o familiar off
Correct Answer :-Familiar to

Topic:- General Maths
D

Question Stimulus :-

In an election between two candidates, one got 52% of total valid votes. 25% of the total votes were

invalid. The total number of votes was 8400. How many valid votes did the other person get? / ar
3FHIGERt F €I U ToI1a &, U Fel 30 7l 7 F 52% F AT 8| FF 7l 7 25% e ) et f
Fel T&AT 8400 Y| foraret der 71 3re=r =@l =7 e

3276

3196

3024

Cannot be determined/feTRa Fl?l' T ST WehaT

Correct Answer :-3024

2)



Question Stimulus :-

If the humerator of a fraction is increased by 400% and the denominator is increased by
500%, the resultant fraction is 20/27. What was the original fraction? / IR & e &

3 # 400% #r g i FT FR & 7 500% #r gfg @ ae, @ o B 20/27 {1 AT Bew w74
ar?

e 8/9

11/12

e 3/4

None of these. / SoT& & Eﬂé' «T-l'eﬁ|

Correct Answer :-8/9

3)
Question Stimulus :-

175 candidates appeared for an examination, of which 140 passed. The pass percentage is? / 175

sFHlgar v aeT # 3uRrya gu, fasd @ 140 3ot go | st ufdea @2

75%

70%

85%

80%

Correct Answer :-80%
4)

Question Stimulus :-

360 people of voting age live in a village. The ratio of the people who registered to vote to those who
did not register in a village was 3:2. How many people registered to vote? / Teh AT A FAAGTT Y

3T F 360 AT @ &1 T€ T Foregiar AATT & FAT TSieor F:rm & foreglar gsiieor gt HIrm
& T 3T 3:2 ¥ Forcter et o Tafehor T 2

. 216

. 144

e 150



o 240
Correct Answer :-216
3)
Question Stimulus :-

We planted 700 trees. For every 3 deciduous trees planted we planted 2 conifers. How
many conifers were planted? / g9s1 700 93 9MU| Y3+ 3 9dsis dlel U5 & v g 2 HAW

U] fhast FIAET & 93 dene Te?
o 420
e 350
e 280
e 140
Correct Answer :-420
6)

Question Stimulus :-

1
If the rate of interest rises from 6: to 8% a man’s income increases by Rs.405. Find the sum. / If&

1
SITST ET FT 62 W 8% FX f&AT ST ar fveh = 1 arfiier amw & 3. 405 1 IRy @<l &1 39 afFa
YOIATA T AT F

Rs. 900/ 900 .

Rs. 1755/ 1755 &.

Rs.1030/ 1030 &.

Data Insufficient / 31'CI'€I‘I'V<-I' 3ﬁ%@'

Correct Answer :-
Rs. 1755/ 1755 &.

7)
Question Stimulus :-

The difference between the CI and SI for 3 years at 10% pa is Rs.620. Find the sum? /
10% affs saTer Y W ¥ 3 AT F Thghg AR FURO A & HaW 620 T2 HAURY A1qd F=?



Rs. 20000/20000 ¥.

Rs. 15000/15000 ¥.

Rs. 35000/ 35000 ¥.

Rs. 21000/ 21000 ¥.

Correct Answer :-Rs. 20000/20000 .
8)

Question Stimulus :-

Two years ago, Rohan was thrice as old as his daughter and six years later, he will be
four years older than twice her age. How old is Rohan now? / a a¥ ggd, Vg #1 31 9=

it i 3y B Rt df qur o ¥ A s g T A 3 F g ¥ 9R a¥ AfE gl dgew
FAATA 3T FAT 872

o 38 years/38a¥
o 42 years /42 ay
e 36years/36d¥
o 32 years/32 ay

Correct Answer :-38 years / 38 ay

9)
Question Stimulus :-

The age of the father is twice the sum of the ages of his two children. After 20 years, his
age will be equal to the sum of the age of his children. Find the age of the father / Rar #r

Y 39 QA aTF I & AT A Qe ¥ 20 I AT IHH I U Al A JY F A F qR
gl Rar & 3y Ara Ko

40 years / 40 ay

30 years / 30 ay

50 years / 50 ay

60 years / 60 ay



Correct Answer :-40 years / 40 ay

10)

Question Stimulus :-

Which of the following equation has no real roots? / aFfaf@a # ¥ fFw FHdwor & F$
qIEdTa® HA Aol o2

X2 —4x+3V2Z=

e xX2—4x+4=0

x2—4x-3V2=9

3x2 - 435 +4=0

Correct Answer :- x> —4x + 3“"'E =0
11)

Question Stimulus :-

Value of k for which the quadratic equation 4x2 + 5kx + k = 0 has equal roots / k & & #HTT foreTah
fore gferama FHATIOT 4x? + Skx + k = 0 F HT ST g

Oandi/oﬁkﬁ

only 0/ &a«a 0

L& L&
5

Only zs / Faar

L& L&

0 and 25/ 0 3R ==

16 16
Correct Answer :- 0 and 2z / 0 3R =

12)
Question Stimulus :-

The centroid of a triangle is (4, —2) and its two vertices are (6, — 10), (— 14, 8) then the third vertex

is:/ U T3S FT FogF (4, -2) T 3R 30 & X (6 - 10) 3 (- 14, 8) aa Hw=r T g
e (10,-2)

« (15,-8)



e (20,—4)

* (25,-6)
Correct Answer :-(20, —4)
13)
Question Stimulus :-

In a right angled triangle ABC, ZABC =90°, AB =5 c¢cm and BC = 12 cm. The radius of the
circumcircle of the triangle ABC is: / e} TH®IOT F8sT ABC #, LABC = 90°, AB = 5 @+ 3R BC
=12 @+, ar Breger ABC & wRgea i Brsar g

7.5 cm /7.5 QAT

6 cm / 6 T

6.5 cm / 6.5 WHY

7 em /7 GH

Correct Answer :- 6.5 cm / 6.5 QT

14)
Question Stimulus :-

The sum of all interior angles of a regular polygon is twice the sum of all its exterior
angles. The number of sides of the polygon is: / t& afaa TG F it 3maRs Foi &1 Aer

30 @t Al FON F AT FT ST ag*agsrrﬂaimﬁa?rm%:
e 10
e 8
e 12
¢ 6
Correct Answer :-6
15)
Question Stimulus :-

A rectangular sheet of metal is 40 cm X 15 cm. equal squares of side 4 cm are cut off at
the corners and the remainder is folded up to form an open rectangular box. The volume



of the box is: / 4T 1 T& FAASR 96T 15 H x40 T 1 4 I AT F AT A A @ FR a0 FR AT
Y U Gl HAATHR ST garel & frw Az fqm arar ¢ avery 1 3maaaT &

896 cm> / 896 T AHY

986 cm> / 986 T AHY

600 cm? / 600 T AH

916 cm> /916 T AHT

Correct Answer :-896 cm3 / 896 €< aH

16)
Question Stimulus :-

A square is of area 200 sq m. A new square is formed in such a way that the length of its diagonals
is V2 times of the diagonal of the given square. Then the area of the new square formed is? / Téh ot

1 A% 200 T # §] T AT 9 F1 GoreT 39 X F A 7171 A 3WT Ryt V2 I § RE @
et & ot & s o @9t 71 e ghom 2

200V2 sq m / 200V2 gt #

4002 sq m / 400V2 Tt #

400 sq m / 400 Tt #Ht

800 sq m / 800 Tt i

Correct Answer :-400 sq m / 400 Tt #Hr

17)
Question Stimulus :-

A circular field has perimeter of 660 m. A plot in the shape of a square having its vertices on the

circumferences is marked on the field. The area (in mz) of the plot will be (Take =3 )/ TR

FearR At F IR 660 ) v FAHR IR S Fre g F R A go Fr gemwn
1) AT FT AT (T AT H) TN (Take "~ 7)

. 20,050



. 21,050
. 22,000
. 22,050

Correct Answer :-22,050

18)
Question Stimulus :-

A pole of height 72 ft has a shadow of length 72 ft at a particular instant of time. Find the angle of
elevation (in degrees) of the sun at this point of time. / Teh 72 e 3?1? FEX A ST m

et Ry §a9 11 72 e §1 39§79 g &1 Sea3+t o7 (Ba3ft ) e HL
. 60°

e 90°
e 45°
e 30°
Correct Answer :- 45°

19)

Question Stimulus :-

If tan® + cot0 = 2, then the value of ©"" 0+ %" @ is? / ITE tand + cot® = 2, AT 47" @+ 0" ¢ T AT

e 0
Correct Answer :-2

20)



Question Stimulus :-

The maximum value of 24 sin® + 7 cos0 is? / 24 sin@ + 7 cos0 FT HTAFAH AT FomT?
o 7
e 17
o 24
o 25
Correct Answer :-25
21)
Question Stimulus :-

In the survey of the 200 people, it is found 140 people like tea and 100 like coffee. 20
people don't anything between tea and coffee. Find the number of people who like only

coffee. / 200 @wit & wfator F 7§ 9rT STaT § F 140 T THE IS § AN 100 FA THG F 1 20
dr T 3R FA X @ Fo ot At qHg FIA E FIA FIAY FY AEA qT AN B FEAT AT HY

e 40
e 80

e 120

« None of these / 3TH & HI$ AT

Correct Answer :-40
22)
Question Stimulus :-

40% members of parliament know English language and 60% knows
Hindi. 15% of the Member of Parliament knows both the languages and 45
members don’t know any of these two languages. How many members are

there in the parliament? / T8E & 40% F WeET 31T AT o0 § 3 60% &
S &1 §9E F 15% HEET 1l HIWNIT Sd § 30T 45 W& 3 gl & q HIE T
el aera §1 wag # fraer wee §?

e 200

e 300

e 100



e Cannot be determined/feTRa Fl'epl' T ST GehaT

Correct Answer :-300
23)

Question Stimulus :-

Ix+1 Ix+1

If f(x) = ¥ s then the value of f(5) is?/ ITE f(x) = - AT £(5) FT AT IIM?

e 0

:

11
Correct Answer :-is

24)

Question Stimulus :-

If f(x) =% then f (0) is?/ ITE f(x) =" &« £ (0) YoM 2
. -1
. 0

o 1

e None of these/mﬁﬁéﬂ'ﬁ

Correct Answer :-1
25)
Question Stimulus :-

A jar has 6 pencils, each of different color, viz. red, blue, yellow, green, black and white. If 5 pencils
were removed from the jar, what is the probability that the black one was removed? / f&d! IR "

AT Y Y 6 I & 34T, e, Aiel, dell, &8, el il a¥he| Iy 5 IR IR 7 @ ger dr 9w,
FIT IS AT & &Y STl I F) gern =T 82

e 1/30



e 1/6

e 1/5

* 5/6
Correct Answer :-5/6
26)

Question Stimulus :-

If two dice are thrown simultaneously, what is the probability that you get a sum of 10 or 11? / &

qTET Y T AT therT SITAT §, AT YIRS & oY 3TIhT 10 IT 11 T 3197 Ak

e 3/35

e 5/36

e 1/36

o 7/36
Correct Answer :-5/36
27)

Question Stimulus :-

If 32 is removed from the data: 20, 25, 28, 32, 38, 45, 48, 52, then the median s increaser by? / afe
forelY 31eT 3 & 32 A FET S: 20, 25, 28, 32, 38, 45, 48, 52, A ATeTHT 7 fFrcer Fr iy Fvaf?

o 1

e 1.5

)

« 3
Correct Answer :-3
28)
Question Stimulus :-

The mean of first 15 odd natural number is? / QET‘h' 15 fawH H&ITHT T ATET FAT ETJIT?

e 15



e 20

e 30

e 45
Correct Answer :-15
29)
Question Stimulus :-

5th term from the end of the arithmetic progression: -11, -8, -5,....., 49 is: / GH&X Aoft : -
11, -8, -5,..., 49 ¥ 3d ¥ qr=ar U5

o« 37

e 40

e 43

e 61
Correct Answer :-37
30)
Question Stimulus :-

If the first term of an arithmetic progression is -5, and the common difference is 2, then
the sum of first 10 terms is / 3T & FHGT Aot &1 947 9 -5 3R FE3}HEAT 2 § O 39 99H7 10

ger & AT §-
o 38
e 40
o 52
e 36
Correct Answer :-40

Topic:- General Science

)

Question Stimulus :-

Digestion within a digestive tract is/3gRATT & I T 82

e Incomplete / 3ol



e Extracellular/ 3=di@® T

e The same as absorption/ 3@y & AT

¢ An irreversible process/ IqRadAT gfghar
Correct Answer :-Incomplete / 31'3:0?
2)
Question Stimulus :-
Which one is a product of glycolysis -/7aEHaER{T F1 39< &

Oxaloacetate/ 3fFaaTiee

Pyruvate/ UIg%dc

Ethyl alcohol/ 34 Tedhlgd

Lactic acid/ afdes 3Fa
Correct Answer :-Pyruvate/ 9s&ac
3)

Question Stimulus :-

In a closed circulatory system, blood is completely enclosed within /48 YhR & TREEOT a7 &
&g fFaA daggang.

¢ The skeleton/ F&rer &

¢ Sinuses/ T FeT &

e Vessels/ afgfaat &

e Hearts/ TT &
Correct Answer :-Vessels/ afgfaat &
4)
Question Stimulus :-

Dilution of concentration of urine is determined by availability of -/H¥ $ Alegdl T ATa= Fa



grHfer &Y 3ufdufa W s Fwar .

Hormone thyroxine/ YRRIFd g#fT

¢ Hormone thymosine / aaAfasr giafT

Hormone ADH/ ADH giafa

Both Hormone thyroxine and Hormone thymosine / ﬂﬂ'ﬁﬁ-‘ﬂﬂ'ﬁﬁﬂ' aar ATIARAT
giAfer &t

Correct Answer :-Hormone ADH/ ADH gi&fa
5)
Question Stimulus :-

In human, number of spinal nerves is -/ AT &, AT d¥FHT A FTEAT A -

31 pairs/31 gt

32 pairs/32 St

33 pairs/33 IS

36 pairs/36 =
Correct Answer :-31 pairs/31 S8
6)
Question Stimulus :-
The grafted portion of a plant is called?/9cqd &1 FAH HTT FeTdl &2
o Stalk/ gea
s Stock/ ®&
e Layer/ W{d
e Scion/ WM™
Correct Answer :-Scion/ A/

7)



Question Stimulus :-
Which one is not a vestigial organ in man?/HATed H FITHT U IraANY 3797 AL &2

Vermiform appendix/ a#feRt

Epiglottis/ Tdivairw

Muscles of ear pinna / #uf Jeaa 1 IRAT

Nictitating membrane/ @HAYFH Brea

Correct Answer :-Epiglottis/ TdlTdifed
8)
Question Stimulus :-

Which of the following has a single membrane ?/fa&1 A ¥ FuA vahd Bredl gidt 82
¢ Nucleus/ &g &
e Mitochondrion/ AEA&I=gar #
e Ribosome/ U=« &
e Plastid/ @a® #
Correct Answer :-Ribosome/ TEaEH &
9)
Question Stimulus :-

Voluntary muscles are found in?/ teo® eft fFaet arft s 22

Alimentary canal/ 3gR aTer &

Limbs/ st &

Iris of eye/ aF &Y yRaR=r &

Bronchi of lungs/ T¥GH #T FAF3T #
Correct Answer :-Limbs/ sfsmait &

10)



Question Stimulus :-

Which of the following contain macronutrients only ? / AF T 7 A A had H"B'c." qYH 313' % ?

Calcium, Sulphur, Zinc/ Hfeead, oW, SEdT

Calcium, Magnesium & Copper / #foeras, HAANRTH qur ain

Nitrogen, Phosphorus & Potassium/ #Tggiold, BIERRT d4T TR R

Nitrogen, Iron & Chlorine/ A, &gl IUT FaARlT
Correct Answer :-Nitrogen, Phosphorus & Potassium/ #ATSeSd, BIEGRY d4T 9 R
11)

Question Stimulus :-

A suitable unit for expressing the strength of electric field is? /fagga &= &1
ofraar & A arelt 3uYFT g 82

e V/C
e C/m
e N/C
e C/N
Correct Answer :-N/C
12)
Question Stimulus :-
One ampere equals?/TF TFRR fFaF R &2
e 105uA
e 10°5,A
e 10-3,A
e 10mA
Correct Answer :-106uA

13)



Question Stimulus :-

Which of the following determine the direction of magnetic field due to a current carrying

conductor ?/ Ue YRIATE! ATeleh & FROT TFaHI &1 Y fyer fove=r 7 & rerahs g@rr & vl 32

Faraday's laws of electromagnetic induction/ ¥R ¥ fega TwFahrr Wor & e &

Fleming's left-hand rule/ wiffeT & s gy & aa @

Lenz's law/ dv & 3&@ @

Maxwell's cork screw rule/ AFHad & FH-vf gH7 &
Correct Answer :-Maxwell's cork screw rule/ #AFdda & %‘F%—W‘\ cerik:s

14)
Question Stimulus :-

A wire as shown in figure carriers a current I ampere. The semicircle has a radius . The magnetic

field at the center C will be-/R # RET AR TF ar 4RI 1 PG A J1aT 1 3rdgea 1 B
r ¢ @ Feg C W IFaHIT & FAT N2

i
I I

Fl

C

® 7ero /QFQ'

ﬂ:.:m-' ﬂxm-'

t Newton/ampere-meter/ * A PIAT-HIeT

71 il

e T Newton/ampere-meter/ * Fﬁﬂ'/ﬁﬁﬂﬂ-:ﬁﬂ

71 7l

e T gauss/ T I

Exl[l'_ E:-::ll:l'_

Correct Answer :- ' Newton/ampere-meter/ * A RPIIT-AeX

15)
Question Stimulus :-

An object 0.5 m tall is in front of a plane mirror at a distance of 0.2 m. The size of the image



formed is?/0.5 m ¥FT Uk faFa FHAAS UOT & HIHA 0.2 m. T W &1 T 71 wfafasa &7 3R
£
e 0.2 m
e 0.5m
e 0.1 m
e 1m
Correct Answer :-0.5 m
16)

Question Stimulus :-

A plane mirror is approaching you at 10 cm s~1. Your image shall approach you with a speed of? /

Ueh AT ST IR dIF 10 cm s~ ! #@w%ﬁmqﬁﬁmmﬁrwﬁmm#
3MAM?

+10 cm 57!

—10cm s™!

+20cms!

1

—-20cm s~

Correct Answer :-+ 20 ecm s~ 1
17)

Question Stimulus :-

One surface of a lens is convex and the other is concave. If the radii of curvature are ry and r,
respectively, the lens will be convex, it?/oa Y v wag Ieaa 3R w 3qdd g, e asar Bean
FHALU: r| § T r, § Y AW Ieaa gem afy?

*ry>n
e r=n
*Iri<n€n

* I = 1/1‘2



Correct Answer :-rq <r,

18)
Question Stimulus :-

3 3
R.L of glass w.r.t. air is 2 , then the R.I. of air w.r.t. glass is?/ gdT & HTYeT I &I AITdATH - %’ ar
§aT T HIT F FTIET JITdTTP eIl 81?2

e 3/4

e« 2/3

e 1/3

«3
Correct Answer :-2/3
19)

Question Stimulus :-

Which of the following is not an example of a bio-mass energy source?/f#T & & &I AT S 9R
FoAT EA FT 3GTEL0T 781 82

e wood/d&a!
e gobar-gas/ M-I
e nuclear energy/ AMAHAT FaT
e coal/ FFar
Correct Answer :-nuclear energy/ AT F4T

20)

Question Stimulus :-

The device in which the nuclear fission and release of energy is controlled is known as?/dg 39hI0T

ot anfehrr Rravss 3tk fgea 31 & Hafa frar s g, seamard?
¢ Thermopile/ ma‘ag?-rgsr

e Thermostat/ zmm?



e Nuclear reactor/mﬁ-'ﬁﬁ'ﬂ'ﬁ'ﬁ?r
e Cloud chamber/Fd138 &Y

Correct Answer :-Nuclear reactor/ sITTRIT H"«ﬁ'ﬂ'

21)

Question Stimulus :-
Which of the following is also called ‘marsh gas’?/fa%T & & frar amet o st Fga @2

Methane/ A3«

Carbon dioxide/ #Ee 31§ 3ifFuTsSs

Chlorofluoro carbons/ FARIFARY et

Sulphur dioxide/ Te®T 1§ TFATSS

Correct Answer :-Methane/ A9«
22)

Question Stimulus :-

No. of oxalic acid molecules in 100 ml of 0.02 N oxalic acid is 2/0.02 N TFATIF 3FT F 100 ml &
IMFATAF el & LT Y T&AT FAT G2

6.023 x 1020

.023 x 1021

6.023 x 1022

6.023 x 1023

Correct Answer :-6.023 x 1020
23)
Question Stimulus :-

A mixture containing 100 gm H, and 100 gm O, is ignited so that water is formed according to the
reaction, 2H, + O —» 2H,0; How much water will be formed ?/100 ITH H, 4T 100 ATH O, T
forsror et fe=T WHIEHTOT & HTHR ST F=11eT & 2H,, + O, ® 2H,0, A ITo el FHl GedATeT Al



oo

113 gm/113 IH

50 gm/50 I&H

25 gm/25 IH

200 gm/200 IAH
Correct Answer :-113 gm/113 IH
24)

Question Stimulus :-

The elements of groups, 1, 2, 13, 14, 15, 16 and 17 are collectively called ?/ 9#g 1, 2,
13, 14, 15, 16 dUT 17 ¥F dqcdl B WIFd T ¥ FgT AT 5?2

e Noble gases/ 3eet 3w

e Representative or normal elements/ YA a1 F#HET dca

¢ Transition elements/ THHA dcd

e Inner transition elements/ 3=d: HAT dcd
Correct Answer :-Representative or normal elements/ 9fafafer ar aer aca
25)
Question Stimulus :-

The correct order of atomic size of C, N, P, S follows the order?/ C, N, P, S & YIHAT] ATHR ST
TGN T /e 3 &7

e N<C<S<P

e N<C<P<S

e C<N<S<P

e C<N<P<S

Correct Answer:-N< C<S<P

26)



Question Stimulus :-

Compound of a metal ‘M’ is M»O3. The formula of its nitride will be?/8Tq ‘M’ & HTFATSS q

M,0; & a1 38 ATFEI$S FT A 1MM?
e M3N
e MN
s M3N,
e M)N;
Correct Answer :-MN
27)

Question Stimulus :-

Molten sodium chloride conducts electricity due to the presence of ?/3Ifard WIfSTH FaRES £ )
de g FT ATere et 3UfPafar & HRoT g 32

* Free electrons/ #Fa gaagid & HROT

* Free molecules/ #Fa 3] & HROT

* Free sodium and chloride atoms/ H#d AfeTH TUT FARES 3197 & FROT
e Free sodium and chloride ions/ & V3T TUT FARES I & HINOT

Correct Answer :-Free sodium and chloride ions/ #AFd WEIA 4T FaARBS IIF & HROT

28)

Question Stimulus :-

The sum number of neutrons and protons in radioactive isotopes of hydrogen is ?/ 31"551’3’3’ & TH
TAEATAE H ~qCieT T el H F&AT3HT FT AT Fdar garg?
3

e 4



Correct Answer :-3
29)
Question Stimulus :-
Baking soda is ?/ af¥r &sr 82
e Na,COj3
¢ NaHCO;
¢ Na,CO3.H,O
e K,COy
Correct Answer :-NaHCO3

30)

Question Stimulus :-

The separation of mixture of two compounds by chromatographic technique is Based upon?/gr

IHfART 1 FERASTNTRAF dhelie q@rT JuFHIor e a3 3mala 82
Differential solubilities/ /@& fora faoraan

Different densities/ faffi+a vaca

Different absorption/ Rff=T 3rganyor

Differential adsorption/ 3a&fad srfarenyor

Correct Answer :-Differential adsorption/ 3@&fada srfereryor



